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®* There are total 60 students in a class. The rank of student 'B' is 41st from the

bottom of the merit order. What 1s the rank of student B from above?

* Teh &l H e 60 Torarmelf &) ST 'sfl' <7 Lok, ATFdr sl | 1=l shl TR A 41971 =1 F

T 3T & B B o1 Loh T 22

A.20
B.21
C.19
D. 18
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* A, B, C, D, E and F are six friends of different heights. A 1s taller than only C
and E. B 1s shorter than D but D 1s not the tallest among them. Who 1s the
tallest among them?

* A, B, C,D, E 3 F, 3TT-3T A2dT o & i1 8l A shaie? C I E 4 T 2| B,
D 9Bl 2 dlehT D 398 § a8 ddr 121 2] 370 9 ge AT hid 2 2
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* Six persons, A, B C, D, E and F are sitting in a circle facing the centre. B sits
between A and E. C sits between D and F. F sits immediate left of A. Who sits
3rd immediate right of E?

* B ANh, A, B C, D, E 3R F T I H %3 sl AL q@ Fleh A &l B, A A" Eh
S A S3T8l C, D IR F h s d3T1 81 F, A 3ok a1 TR 3T B E o 31h T ahiA
q3T 8 ?
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®* Find the next term

* AT US JTd hiTeld
*9 8,10,16, 11,7, 12,64

A.28
B.36
C.25
D.32
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®* Find the next term

® ITTAT U JTd shifold
* 89, 84, 82,79, 75,74, 68, ?

A.68
B.70
C. 69
D. None of these
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®* Find the next term?

® ITTAT US T shifSTu?

°24, 5, 2, 1.5, 15,7

A. 1.75
B. 1.50
C. 2.25
D. 7.50
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® On writing the first half of the English alphabet in reverse order, which will be
the third letter to the right of the 9th letter from the beginning?

* SIS JUHTCT o TEA 1Y hl I 3hH H foTa IR, J3ATA © Al 378 o SR e
378 hi9 |1 BIT?

Caw»
— I




SSC GD 2022-23

* Find the number of triangles and squares 1n the given figure.

» f3U T Hiohe | Pt S 3t o6t S sl 1 i

O

N7
N\

o aw

28
24
28
24

B, 3 =
B, 53
B, 53

P, 3 T



® 15:240 ::?7:462
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o aw

22
23
34
21



* PAN=31
* PAR=35, THEN
* PAT=77?
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o aw

30
39
37
41
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* Two positions of dice are shown then find out what will be on the opposite side
of 67

o T <l @1 feufaai fems TS 2 @ Ia hifviw hr 6 & faadia gag w = g

AWd &4
,

A.3
B.2
C.1
D.5



